
პირველი ბლოკის ტიპური მაგალითი. სწორი პასუხის წონა – 1 

Choose the correct word or phrase to complete the English grammar question.  

I'm afraid I'm not hungry. I've _______ eaten lunch. 
 
a) yet;   b)still;   c) already;   d) ever 

 

მეორე ბლოკის ტიპური მაგალითი. სწორი პასუხის წონა – 2 

Complete  the sentence. The space  in  the sentence doesn't  indicate  the size of  the missing word or 
phrase. 

Politics  ____________________ a matter of controversies. 

a) is always;   b) has always be;       c) have always been; d) has always been 

 

მესამე ბლოკის ტიპური მაგალითი. სწორი პასუხის წონა – 4 

The question presents a sentence, part of which is underlined. Beneath the sentence you 
will find five ways of phrasing the underlined part. The first of these repeats the original; 
the other four are different, if you think the original is best, choose the first answer; 
otherwise choose one of the others. 

The Wallerstein study indicates that even after a decade young men and women still experience some of 
the effects of a divorce occurring when a child. 

(A) occurring when a child 

(B) occurring whenchildren 

(C) that occurred when a child 

(D) hat occurred when they were  children that has occurred as each was a child 

 



მეოთხე ბლოკის ტიპური მაგალითი. სწორი პასუხის წონა – 5 

Analyze the situation on which question is based and then select the most appropriate 
response to the question 

The average  life expectancy  for  the United States population as a whole  is 73.9 years, but children 
born in Hawaii will live an average of 77 years, and those born in Louisiana, 71.7 years. If a newlywed 
couple  from  Louisiana  were  to  begin  their  family  in  Hawaii,  therefore,  their  children  would  be 
expected to live longer than would be the case if the family remained in Louisiana. 

Which of the following, if true, would most seriously weaken the conclusion drawn in the 
passage? 

(A) Insurance company statisticians do not believe that moving to Hawaii will significantly lengthen 
the average Louisianans’ life. 

(B) The governor of Louisiana has falsely alleged that statistics for his state are inaccurate. 

(C) The longevity ascribed to Hawaii's current population is attributable mostly to genetically 
determined factors. 

(D) Thirty percent of all Louisianians can expect to live longer than 77 years. 

(E) Most of the Hawaiian Islands have levels of air pollution well below the national average for the 
United States. 

თქვენ გეძლევათ 45 წუთი 55 შეკითხვიანი ტესტის შესრულებისათვის. თქვენ შესაძლოა 
არ გეყოთ დრო, რომ ბოლომდე დაასრულოთ ტესტი, მაგრამ გაეცით პასუხი იმდენ 
შეკითხვას, რამდენსაც შეძლებთ. თუ გიჭირთ რომელიმე კითხვაზე პასუხის გაცემა, 
გადადით შემდეგზე. ტესტისთვის გამოყოფილი დროის ამოწურვამდეშეგიძლიათ 
დაუბრუნდეთ ნებისმიერ კითხვას. 

 

თუ დაამთავრებთ დროზე ადრე, დააჭირეთ ღილაკს „წარადგინე და 
დაასრულე ტესტი“, არ წამოდგეთ და არ შეაწუხოთ სხვები. გახსოვდეთ, 
რომ ტესტირების დაწყების შემდეგ უნდა დაიცვათ სრული სიჩუმე. ამიტომ 
თუ გაქვთ რაიმე შეკითხვა მიმართეთ ტესტის ადმინისტრატორს 
ტესტირების დაწყებამდე. 

 
ტესტის დასრულებისთანავე ბრაუზერის ეკრანზე თქვენ შეგიძლიათ საკუთარი 
შეფასების ნახვა.  
 

გისურვებთ წარმატებას ! 
 
 


